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03142520| éni 02 Jupgh Y4 huwn 68,000
03211300| pphd Q2 Uhingpud 3,500
03221100| pwqnil Q2 nnud 2,000
03221110] ququp Q2 npwy 1,400
03221111] unju gqnifu qz, i 3.500
03221115| ubws \nph Q2 npud 1,200
03221120| phpwp Q2 npuwd 700
03221121 wnthnnp Q2 npwd 4,999
03221124| Jupnitg Q2 npud 4,600
03221410| unuwup Qz [hingpud 13,500
03222100| pwaw Q. npud 15,000
03222119 Gwphue S Y4 npud 7,000
03222121| dwinuwpht Q2 npud 3.500
03222128| [utidnp Q2 npud 12,000
03222132{ntind Q2 npuy 2,500
03222133 |jtinwu Q2 npuwd 3,500
03222136|ninlijnt hwdwp Gwjuwnbujwd juwnnn S Y4 npwy 2,500
15111110 mmwduwph dhu, mbinuuwy nufjpnin Q2 [hingpud 20,000
15111120] nnwduwph dhu, minuluwu thwthniy Qz [ hingpuwd 11,000

huwydh dubinhp, uwnbigyuwo, nbnulw,
15112160|wdpnnowljw Qz [hingpud 26,000
15112180|hwiyh wgnpudhu, uwnligwo, minuljwy Qz [hingpud 8,000
15113200| Jungh vhu, mbnulu, thuthnil Y4 Jhingpuud 2,000
15131100| tpzhlintit /upplinghf wwjuph duhg/ Q2 npuyd 2,100
15131100| tipphintit /applinghy huidh duhg/ Q2 npud 4,000
15131121] tpphY 1 /Ethwd/ Q2 Uhngpud 4,000
15131122 tipphY 2 /Yhuwwuunwo/ Q2 Ghingpud 2,500
15221000] dmly, uwntigduo, abipdnioquwo QZ Jhingpud 3,000
15251100 uwntigwo Juiggimtwlipubn Q7 npuid 470
15313000| Jupuinphy Q. Uhingpud 29.250
Upquhjnipe, upwinpuunh oquugnpdodwl

15321000{puwlwi hynip Q’ 1hup 20,000




15331151 |1nph, hwwnhljudnp QZ, Jhingpurd 1.600
15331152|uhubtin, wdpnnowljui Q2 Jhingpud 1.400
15331153|nuyy, wdpnnowluls Q2 [ hingpud 1,500
15331154|nnn, wdpnnowljuli Y4 [ hingpud 1,700
15331165]| ujuninp, g{nifu S Y4 [hingpud 20|
15331167|jutiwsh, awnp Q2 Juy 1,200
15331168| udpnmy Q2 [hingpud 1,200
15331180 wwhwonjugywo ninn Q2 npud 1.200
15331185 pwngp Gghwynwgnpbit Q’ npuyd 1,200
15331490| dwphtwgyuwo Jupniug S Y4 [hingpud 1.200
15332230 Unipwpw, inlinuljwu Q2 npuyd 2.400
15332290 otivtin 4 npuwd 5,800
wwhwonjugywd dpglin 4ndunun
15332400| nbinulju upgliphg/ Q. Ypuwd 15,000
15333100{tnindwwnh dwonily SY4 Ghingpud 900
[bpwynipliph wwwnpwundwd hwdwp
15411200{ogunwugnpdynn dbip Q2 npuwy 550
15412100] fognuwawfut swqdwl jnintin Qz npud 6,150
15511210] untiphihqugyuo Jup Qz npwyd 4,000
15511600] Jutntugpwd e pwpwnny Q’ Jhingpud 1,600
15512000| ppyuwubip ntinwljwy Q2 Jhingpud 6.700
15530000 Guuipwg, ulipnigpwyht SY4 [hingpud 3.050
15541100| ujwhp, (nnh Q2 Uhingpud 6,000
15541200 wjwthp, swiwlu Qz [hingpuwd 3.000
15542100| uptw)nn, nuuwljul Q. [hingpud 1,450
15551300|jngnipun QZ npud 5.465
15551600| dwom, nyh juphg Q’ [hingpud 2,100
15616000| hunjudwdup Q2 [hngpud 3.550
15617000|gnpuwdwjup Q2 Jhingpud 2,100
15619000| hwdwpwdwup 4 [{hingpud 2,500
15623200| uphnwjudwdwnp Q2 npuwyd 1,000
15811100|hwg, Junuwujwpwhuwg /6yxaxka/ Q2 npuyd 20,000
15811120| hwg, wnlwpurn Q2 [hingpud 53,000
15811130|pnijh@lip swdhsnd Qz Tpuwd 28.000
15821500|pwngn plujwopwpihp S Y4 Ypuwd 3.000
15821500| prungn plujwopwpihpe /Judpih/ Q7 puwd 2,700
15831000| pwpwpwyuq uyhwnuly SY4 hingpud 7,100
15842220| pninjwnh uwih{ulip Q. “puwd 18,000
15842310| 4nudlin, Jupurdly Q2 Ghingpud 420
15850000| dwljrupnutintit Q2 Ypuwd 3,500
15863200| [olij uli S Y4 [hingpud 105
15871110| pwgulu, utdnph Y4 [ hingpud 180
15871253| dwynilbiq Q2 Tpwd 300
15871256 {wnujtin /Jupdhp’ wnuguo/ Q72 Ypud 36
15871256|wnuytin /uli’ wnugquo/ Q2 Ypud 24
15872400| wn, Ytpwlnph, dwip Q72 [hingpud 600
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